Best model for HELP_J003501.806-443144.735 atz = 1.79 )(2=2.6
OPTx?=1.26 IRx?=7.93 threshold (OPT IR)=22.32 [um]

102 3 Stellar attenuated
i e e Stellar unattenuated
] —— Dust emission
1] [F —— AGN emission
10 = Model spectrum
] ® Model fluxes
0 : M oObserved fluxes
10° 4
= 3
E‘ ]
— -1
X 10
= ]
[TH ]
-2 ]
10 IV,
] SS Ay
1073 5
3o+ ]
_4 4
=077 3
© 1 =f= (Obs-Mod)/Obs
S ]
i) ]
n e
(O] o e ——— = -7 ————————————————————————————
—_
) ]
2 ]
S ]
r_u—]_ T o 7 — T —
& 10° 10! 102 103 104

Observed wavelength [um]

AR CIGALE

10° @



